
SBL 0302 Salon Bridgekerho

2023-09-20  Rabbit 20.9. Lopputulos
3 pöytää, 6 paria. Jakomäärä: 20. Keski: 40,0. Keskimäärinen tasoitus: 13,5.
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Sija Pari Pisteet % Nimi Tas% Tas J-ID Kerho

1 2 50,0 62,5 Arja Niskanen - Aki Saarela 15,1 17,0 2,0 2956 3373 Salon Bk
2 6 43,4 54,3 Peter Soinu - Jari Hilska 6,5 6,7 -5,6 2940 1883 Salon Bk
3 3 40,8 51,0 Riikka Sajaniemi - Tuomo Sajaniemi 17,0 2,8 3184 2979 Salon Bk
4 4 40,3 50,4 Jaakko Viima - Matti Rintala 16,0 16,8 2,3 2080 3024 Salon Bk
5 5 35,6 44,6 Jaakko Salo - Merja Mölsä 13,1 -0,4 2981 2839 Salon Bk

6 1 29,8 37,3 Janne Blomqvist - Outi Yrttiranta 8,1 16,1 -1,2 2840 2746 Salon Bk



SBL 0302 Salon Bridgekerho

2023-09-20  Rabbit 20.9. Lopputulos
3 pöytää, 6 paria. Jakomäärä: 20. Keski: 40,0. Keskimäärinen tasoitus: 13,5.
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SBL 0302 Salon Bridgekerho

2023-09-20  Rabbit 20.9. Lopputulos
3 pöytää, 6 paria. Jakomäärä: 20. Keski: 40,0. Keskimäärinen tasoitus: 13,5.
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SBL 0302 Salon Bridgekerho

2023-09-20  Rabbit 20.9. Lopputulos
3 pöytää, 6 paria. Jakomäärä: 20. Keski: 40,0. Keskimäärinen tasoitus: 13,5.
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